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(English Version)

(1) You must write
ansier-book.

(rr)

srialled as soon as You receide-at.

the "'”h,"’””””f." / paper-code 028 in the hﬂ F;'lﬂ'ldrd on the title page of your

Make sure that the ﬂn*ﬂﬂ'r-&'ﬂl' contains 32 pages (imcluding title pagr) and are prﬂpu‘rflf

(ni)  Question/s at tempted after rm‘“ﬁ?ng blank page/s in the answer-book would not be evaluated

(1) All questions are rﬂmpulsn@Z _
() Use of calculators 1s not n*rmﬁéd,

(v1)  Marks allotted to each question are indicated against it.

(vur)  Pumpabi and Hindi Versions of questions are true translation of English Version.

case of any confusion consider English Version to be Correct.

Section-A

Choose the correct options in the fn[iqu?ng questions :

A
ﬂ.,?-jl is equal to :

—
(i) If a is a non-zero vector then

ol e e e

- o

(i) Name of the inequality Ia + bls
(a) Cauchy-Schwartz Inequality (b) Triangle Inequality
(c) Rolle’s Inequality (d) Lagrange’s Inequality

<P
al + |bl 1s:

- - + 3
X = 3 >3 2 is :

g1 e — e

(i) Vector equation of the line ——7 5 _8

» A A o 457 _ 3k

(a) r=4.‘—5;—ﬂk+p(5bﬁ‘:; 3)
A A 'én""* A A
3 o5} 48k + i3] -38)

S LI
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r
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=

%

A A A ( A a ﬂ)
{d} :=5,+1}' *-3k+|.l.‘—4l +5}'—Bk
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(vi)

(vii) If A 1s a square matrix of order 2 x 2 and [AL:—T_S; then |Adj. (A)] is

028/B-SS

Obyective function of a line

&
{a) :\IW.]F& quadrﬂth- 844 O

(b)Y Alwavs lincar

(€} May be linear or quadratic t{t‘pl‘ﬂdill}!”.@ the problem

(d)  May be cubic sometimes

It I*lt _5“ % p(B) % and p{A| lB) é m P(A B] 1S tqual to :
2 8 _
(@ 2 ® = (c)

Relatton R = {(x, y) : x <y where x, y e R } is :
(@) Reflexive but not symmetric.

(b) Symmetric and transitive but not Reflexive.

L{
(¢) Reflexive and Symmetric. -

v
R

v - 3 i
(d) Neither reflexive nor symmetric nor gﬂpsmve.

Range of function cos ! is :

@ o=-{7] ® O
(= )
(€ (=330 (d) [0, m]

o

| I

ar programming, problem is

w |

(a) 25 (b) 125 wdo s
5 = N
(f X" 2y 0 _ T 0] tlwnu;mequalim'
3 X 9 .
1.{)
(a) 1 (b) 3 (c) 2
14

(d)

(d)

Qo | W
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Sin 8y

() U f@)=q 5 - ¥e0.
m+ ] m 'S Continuous at 1 =0 then value of m is : 1
5 |
(@ 3 8 LN 3
8 by = % 3 = ’
)5 4o © 3 d 3
4 LN
WH y=el8* then —Z g B
dx e 1
N
a) 1 -
( ) ﬂg X—X (b) te[ﬂgl‘.’ Hi (C) 1 (d) E]ng.r]ngI
(xi) Radius of a cj is i
circumferenceci:;rfle IS Increasing at the rate of 2 m/s. Rate of change of its 1
a) 4
(@) 47 m/s b) 2m/s () 2mm/s (d) 4m/s
/3 VCOS X
(xiii) - ‘
E{G R ey dx is equal to 1
@4 . U
a i = _ ™ 411
@ 3 ®) 3 I © 3 d 3
¥ 9
- Il dx ' —
(xiv) 0] + L2 isequalto: @) 1
~J
E m ™ '
@ - ®) © 3 @ =
PR -y dy
(xv) er of differential equation = R 2oty =0is . 1
(@) 3 (b) 2 (© 1 (d) 0
(N
2.  Fill in the blanks in the following : ﬁ
. . |
. m dy '
Ify=tan x thenat x = —, — =
-3 ,n, h A A A A
(i) Direction ratios of straight line r =41 -7 + 5k +5(91 =2} +5k) are ______ .1y
28B.gg 15 [Turn over
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() I a divce is tossed once then probability of getting an oddd prime number is |

(v) Principal value of sin (1) is Al '

(V) 1t order of the matrix A is 3% 2 then order of matrix (A') s m |
Hrrtinn-li_

3~ Using integration, find the area bounded by the (RIS 12 4 ¥’ = 16 in the first quadrant. - 2

N I
L] 1 K
& _i : ]

4.  The volume of spherical balloon is increasing at the rate of 25 c.c./s. Find the rate of change 2

* of its surface area at the instant when its radius is 5 cm.
5, Find the critical points of function f(x) =2x- 3x2 - 12x 4 15, :
q. Find the area of triangle whose sides are given by fveclors 2
-~ A A A - A ~ A L0
a =21 +3) - k&b=i-j+3k e
r*,L
.J ( OR b |
' A s A j ‘-:‘ ! A M
Find the value of p if the vectors pi ~8j + 5k ahd 5i + 2) ~= 3k are perpendicular to 2
each other.
2 1 3 e
7. U A= ,B= [0 2| then verify that (AB)' =B'A’ 2
4 10
| I—5 0.4
i)
dy _1( 2x ) -
: - ] = fan . 2
§.  Find = i Y g e
OR LO)
d "
Find =L, if 0 +2%y -3ny +y =100 :
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1 Iy +:.2
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11.  Solve the following linear programuming proviem graphucally

e e

Maximise and minimise Z = 4x ~ 2y~ 7 subyart o the constraints
'-*4- .

X+3y <60, x4y210,x-y<0,x20,y20"

OR

-

Solve : ,‘de—(ﬁ-—r;+y2hdr={?: gven that y=1 when 1=1

13, Apmblemisgh'mtuhmdﬂmhi-mecw.immmm!ﬁ? Ianiloanhes 4
the ity that (1) Mﬂtmﬂﬂm%%ﬁ'emm @) the problie  sofvad
2 .

F

. g

O
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ifﬂl'ﬂhhfpﬂmﬁmd.muﬂd‘im'f.ﬁtfﬁ.ﬂwwh*ﬂm;‘hhma!
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| : L14

1
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2 f(x) - 5¢ + 3 .« one-one and onto.
4.  Prove that the function [ 5 y
(
| : 2
' va of the triangle
15.- (a) Usmg determinants, find the value of k if the area ©
e ('1‘3}‘}:( 4, 4) and (k, —2)s 12 sq. units.
. - 2
. | , matrix Y.
(b) I X= [l ﬂ and 2X = Y= [1 -*5} then find the m
r I .
)
. s , y
16. If y=2x8""+(sin x)* then find e
OR
1= t# 2t dy 0 4
If x = Y = then prove that + 2=
el T 1e e 4 ix |y
5:1
: Section-D

13 Find the height of the right circular c¢ne of maximum volume, which is inscribed in a sphere 6

of radius 12 cm. %
OR -
x* ; ;
X
Evaluate Ix* e
8. Solve the following system of linear equations by matrix method : 6
5r+y-3z=-10, 3x—2y+z= -8 x+3y+z=4
W
L
(a) Express | |as the sum of a symmetric matrix and a skew-symmetric matrix. 4
L

Fiaa

b) If A=[i :] and f (x) =x2+2x -3 then find f{A).

b
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(b)

" ] 4 -~ f "i ’t-;
Prove that for any two non-zero vectors a and b ja + b ai + |

the name of this inequality.

. Also write 4

Adjacent sides of a parallelogram EII‘M‘H'H by hf - ; +5k and l - 5} - Zk Find 2
the area of the parallelogram, U

F

Find the shortest distance between tlfrﬂnwmg pairs of lines : 4
3.("}

- A A A A AA — A A A A A h

r=:-4j+5k+p.(5|+9;+k &r=2i+Bj-6k+k(3"“21+k)

Find the angle between the lines ’

—p
r

A A A A A A -3 A A A A A A
=3i + 8j +3k +.L(;' +2j—k)& r=-3i +9j-—k+h(5i +3j+4k)
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